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2008-09 Region Competition

Match #2


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
His inaugural address was titled ‘A Tryst With Destiny.’ In domestic policy, he established Five-Year Plans for his country in 1951 and expanded the rights of scheduled tribes. In foreign policy, he forced the Portuguese out of Goa, founded the Non-Aligned Movement, and fought a war with China in 1962. His daughter and grandson followed him as prime minister; his grandson’s wife Sonia Gandhi is the current leader of his Congress Party. Who was the first prime minister of India? 

ANSWER: Jawaharlal (or Pandit) Nehru
2.
The main treatment for it is the three drugs dapsone, rifampicin, and clofazimine.  Caused by a type of mycobacterium, it is also known as Hansen’s disease.  Father Damien treated a colony of people with this disease in Hawaii.  Name this disease that affects mucous membranes and causes skin lesions.

ANSWER: leprosy
3.
In 1981, Elena Kucharik and American Greetings unleashed them upon the world. In 1983, Kenner Toys subjected humanity to their plush forms. In 1984, some cousins were introduced, and Professor Coldheart started his noble mission of eradicating them. They were foisted once more upon the unsuspecting in 2007, with the movie Oopsy Does It! Also, ‘Tenderheart’ was deposed as leader in an apparent coup by ‘Cheer,’ and their ‘tummy symbols’ became ‘belly badges.’ Who are these ursine spreaders of good cheer? 
ANSWER: Care Bears
4.
This name was originally applied to a constellation called ‘The One Who Points the Way’ due to its pointing north. It also describes a kangaroo mouse that can survive in the open desert. It was the public name of Usul, as it describes a creature that ‘creates his own water’ and ‘is wise in the ways of the desert.’ It was the name of the leader of a rebellion on a mostly-desert planet that was the only source of mélange. What is this name adopted by the leader of the Fremen, Paul Atreides, in the novel Dune? 

ANSWER: Muad’Dib
5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the area of a trapezoid with bases of lengths 4 feet and 12 feet and a height of 7 feet, given that area is equal to the average of the bases times the height?

ANSWER: 56 square feet
6.
Nouns in this language are one of sixteen classes, and time runs from dawn to dusk – so one o’clock in this language is seven o’clock in English. Its name comes from an Arabic word meaning ‘coastal language.’ Indeed, 35% of its vocabulary comes from Arabic, although its grammar and remaining vocabulary are Bantu. What language is spoken or understood in the eastern part of the Democratic Republic of the Congo, Kenya, and Tanzania? 

ANSWER: Swahili
7.
There is only one person to have been on the investigatory panel for both Columbia and Challenger, and that is the author of a report titled NASA Leadership and America’s Future in Space. This crewman for the 1983 STS-7 mission aboard the Challenger was married to Steve Hawley between 1982 and 1987. Twenty years after Valentina Tereshkova, who was the first American woman to enter space? 

ANSWER: Sally Ride
8.
This team was upset by the Islanders in the 1993 playoffs. Dale Hunter, Adam Oates and Peter Bondra made another run in the 1998 Stanley Cup Playoffs, winning the Eastern Conference title, but were promptly swept in four games by the Detroit Red Wings.  The team was sold in 1999, and picked up Jaromir Jagr in 2001 before winning the draft lottery in 2004.  Featuring goalie Olaf Kolzig, this is what NHL team, who used the first pick of the 2004 draft on Alex Ovechkin?


ANSWER: Washington Capitals
9.
A 2003 study suggested that the SARS virus originated from this region, where Dobson units are used to measure the concentration of an abundant triatomic molecule, whose presence and interaction with UV rays causes a temperature inversion.  Located above 100 millibars, or approximately 10 kilometers, the ozone layer is located what layer of the atmosphere, located below the mesosphere and whose lower boundary is delimited by the tropopause?


ANSWER: stratosphere
10.
Its version 4.01 was adopted in December 1999 and it remains the standard. For most of the 2000s, its ‘Extensible’ version has been the focus of development efforts. Its original version consisted of 22 elements when it was first conceptualized in 1991 by Tim Berners Lee. These elements include ‘hr’ (spell them out) for hard return, ‘b’ for bold, ‘img’ for a picture, and ‘a href’ to create a link to another page. What is the main computer language used to create Web pages? 

ANSWER: HTML or Hypertext Markup Language
11.
P.T. Barnum led Jumbo and 20 other elephants over it to allay fears about its stability. It remains standing today, since Washington Roebling constructed it to be six times as strong as Roebling thought necessary. It was the first steel-wire suspension bridge and was the first bridge to connect Long Island to the mainland. Spanning nearly 6,000 feet over the East River is what bridge that opened in 1883 and then went on sale? 
ANSWER: the Brooklyn Bridge
12.
They are vulnerable to rheumatic fever and the first artificial ones were developed in 1952 by Charles Hufnagel.  There are four of them and defects in them include regurgitation, prolapse, and stenosis.  The semilunar ones are the pulmonic and aortic and the atrioventricular ones are the mitral and tricuspid.  Name these parts of the main organ of the circulatory system.

ANSWER: heart valves
13.
Its northern section was the site of the Virgin Lands program of the 1950s. This country contains the Baikonur Cosmodrome and Lake Balkhash. Although it borders the remnants of the Aral Sea and the northeastern shore of the Caspian Sea, it is the largest landlocked country in the world, and the ninth-largest country in the world. What country has the cities of Astana and Almaty and is the second-largest former Soviet Republic? 

ANSWER: Kazakhstan
14.
It was designated as the successor to the Badge of Military Merit in 1932. Between 1941 and 1943, it was also given for meritorious service. It is the only military decoration that has completely objective criteria. Frostbite, food poisoning, and post-traumatic stress disorder do not qualify a soldier to receive one. In the 1990s, Congress authorized awarding them for those injured by friendly fire. What award is given to any soldier wounded or killed by enemy action? 

ANSWER: Purple Heart
15.
Lines from this play include the compliment, ‘Age cannot wither her, nor custom stale / Her infinite variety’ and the anachronism ‘Let’s to billiards.’ Toward its end, Enobarus switches sides. At its beginning, the pirate Menas suggests Sextus Pompeius throw the triumvirs overboard. It has forty scenes, more than any of Shakespeare’s other plays. Action constantly shifts between Rome and Alexandria in what play about a Roman triumvir and an Egyptian queen? 

ANSWER: Antony and Cleopatra
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What part of the shoulder girdle is also known as the collarbone?

ANSWER: clavicle
1B.
Goma was a recent target of attack by Laurent Nkunda's CNDP in what central African nation where years of ongoing conflict have killed up to 5 million people?


Answer: Democratic Republic of the Congo (do not prompt on 'Congo')

2A.
The Cuyahoga River flows through what Midwestern city pejoratively known as the ‘Mistake on the Lake’? 

ANSWER: Cleveland
2B.
Actions like slash and burn forestry, logging, grazing and the paving of roads can contribute to what effect, characterized as the displacement or movement of soils?


ANSWER: erosion
3A.
The Right Stuff and The Electric Kool-Aid Acid Test are works by what author of Bonfire of the Vanities and I Am Charlotte Simmons? 
ANSWER: Tom Wolfe
3B.
What name was given by Native Americans to the Black soldiers in the 9th and 10th Cavalry Regiments, a name made famous by Bob Marley? 

ANSWER: buffalo soldier(s)

4A.
Michael Cera appeared as the father of Ellen Page's baby in what 2008 film about the titular teenage mother?


ANSWER: Juno
4B.
What word describes the ceremonial weapon borne by the House of Representatives’ Sergeant-at-Arms or a type of aerosol tear gas? 

ANSWER: mace
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is 15 minus 7i times its conjugate? 
ANSWER: 274
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the square root of 5776?

ANSWER: 76
6A.
A mohel (moil) performs what ceremony on eight-day old Jewish babies? 

ANSWER: circumcision
6B.
Name any five of the seven words traditionally listed as coordinating conjunctions.
ANSWER: (any five of) for, and, nor, but, or, yet, so
7A.
What English author created the character of Christopher Robin in the Winnie-the-Pooh series? 
ANSWER: A.A. Milne
7B.
Who wrote Coming of Age in Samoa?
ANSWER: Margaret Mead
8A.
What element has an average atomic mass of sixteen?

ANSWER: oxygen
8B.
Who was turned into a spider after defeating Athena in a weaving contest?

ANSWER: Arachne
9A.
Who was the first mate on the Bounty that led the mutiny against Captain Bligh?
ANSWER: Fletcher Christian
9B.
Self-actualization is at the peak of what psychological theory about the prioritization of needs? 

ANSWER: Maslow’s hierarchy of needs

10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the value of 19 cubed?

ANSWER: 6859
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the volume of a pyramid with a base of 64 square feet and a height of 12 feet?

ANSWER: 256 cubic feet
Third period, 15 toss-ups, 10 points each

1.
His death day – May 26, 1933 – is celebrated by his childhood home of Meridian, Mississippi. He, Hank Williams, and Fred Rose were the first three inductees to the Country Music Hall of Fame. He broke up with his band, the Tenneva Ramblers, before the famous Bristol Barn Sessions of 1927. What country music pioneer is best known for a series of 13 recordings – the ninth with Louis Armstrong, and the first known as ‘T for Texas’ – called the ‘Blue Yodels’? 

ANSWER: Jimmie Rodgers
2.
It differs from Raoult’s law in that it deals with non-ideal solutions.  This law explains the effervescence of a soft drink and includes a constant that has units of liters times atmospheres divided by moles.  Name this law named after an English chemist that states the solubility of a gas in a liquid is proportional to the pressure of the gas over the solution.

ANSWER: Henry’s law

3.
Gaudete (gow-DEH-tay) Sunday is part of this period that once started on St. Martin’s Day and lasted for forty days. In the 19th century, Germans created special calendars to assist in its observance. The color purple is associated with this liturgical season. Eastern Orthodox churches observe a similar season called the Nativity Fast. What part of the church year begins on the fourth Sunday before Christmas? 

ANSWER: Advent season

4.
He was exhumed by a Soviet archaeologist shortly before the German invasion. He was reburied with full Islamic rites shortly before the Battle of Stalingrad. He is reviled in India for killing 100,000 citizens of Delhi, and in Syria for building a pyramid of 20,000 skulls. He was popular in Europe for defeating the Ottoman Sultan Bayezid. He won the battles of Kondurcha and the Terek River over his arch-rival Tokhtamysh. Samarkand was the capital of what 14th century Mongol-Turkish conqueror?  

ANSWER: Timur or Tamerlane 
5.
One of the title characters was taught to read and write by Father Andrew, and the other was educated by Lord Hertford and Lord St. John. The story the two characters tell is accepted when the Great Seal is found in a suit of armor. One character grew up on Offal Court; the other in Westminister Palace. Tom Canty and Edward Tudor resemble each other in what Mark Twain novel about a beggar interactive with royalty? 

ANSWER: The Prince and the Pauper
6.
Its area is approximately 4.828 times the square of its side length or exactly two times the quantity 1 plus the square root of two end quantity times the square of its side length.  It has 20 diagonals, its interior angles sum to 1080 degrees, and a regular one has each interior angle measures 135 degrees.  Name this eight-sided polygon.

ANSWER: octagon
7.
He purged Jones, Aaronson, and Rutherford in the 1960s. He once praised a group called the FFCC and its leader, Withers. But his speech was misreported, as it was actually about Comrade Ogilvy. His job was ‘to act as a focusing point for love, fear, and reverence; emotions which are more easily felt towards an individual than an organization,’ according to Emmanuel Goldstein. What supposed leader of Oceania was always ‘watching you’ in 1984? 
ANSWER: Big Brother
8.
He once owned what is now the #12 car in the NASCAR Sprint Cup, and took 2nd place in the 1979 24 Hours of Le Mans. Nineteenth on Nixon's so-called "enemies list" for his political activism, he won an Academy Award for his role in The Color of Money and received nominations for playing the title roles in The Hustler and Cool Hand Luke. Who is this actor and spaghetti sauce manufacturer, also known as "Old Blue Eyes", who passed away in September of 2008?


ANSWER: Paul Newman
9.
THIS IS A 10-SECOND COMPUTATION QUESTION. To the nearest integer, what is the molecular mass of nitrous acid, a substance with chemical formula H NO2, given that hydrogen has a mass of one, nitrogen has a mass of 14, and oxygen has a mass of 16?

ANSWER: 47
10.
It was threatened early on by the Rebellion of the Seven States. Some of its early history is recounted in Records of the Grand Historian. An entity with the same name ruled between 947 and 950. It defeated the Xiongnu (SHEE-awng-noo) in a series of wars. It entered a decline when Wang Mang temporarily overthrew it, and its dissolution started the era of the Three Kingdoms. Emperor Wu was the best-known ruler of Chinese dynasty lasted between 206 BC and 220 AD? 

ANSWER: Han dynasty

11.
He became famous for his poetry collections Voices of the Night. He also wrote the play The Spanish Student, the novel Hyperion, and the love sonnet ‘The Evening Star’. He was the first American to translate The Divine Comedy. His collection Ballads and other Poems includes ‘The Village Blacksmith’ and ‘The Wreck of the Hesperus.’ Another collection, Tales of a Wayside Inn, includes ‘Paul Revere’s Ride.’ Who wrote the epics Evangeline and The Song of Hiawatha? 
ANSWER: Henry Wadsworth Longfellow
12.
This movie was ‘redux’ in 2001, adding the de Marais (dih mah-RAY) family and the ‘Monkey Sampan’ scene. Its quotes include ‘Charlie don’t surf’ and ‘I love the smell of napalm in the morning,’ both associated with a helicopter attack set to ‘Ride of the Valkyries.’ It starts with Captain Benjamin Willard being told to terminate ‘with extreme prejudice’ Colonel Walter Kurtz. The novella Heart of Darkness is the basis of what anti-war film, directed by Francis Ford Coppola, set during the Vietnam War?

ANSWER: Apocalypse Now
13.
A geographer would describe one as BWh or BWk (spell it out). A philosopher would use this word to describe how someone gets what is coming to them. It once described the area between the Mississippi and the Rockies. As a verb, it means to abandon something, such as a spouse or a military post. What word also describes a region that receives scarce rainfall, such as the Atacama or the Sahara? 


ANSWER: desert
14.
A precursor of plant cytokinins, its chemical formula is C5H5N5.  Once called Vitamin B4, it forms NAD with niacin and FAD with riboflavin.  It is an important component of ATP.  Name this purine base of DNA and RNA that binds to thymine or uracil and is abbreviated A.

ANSWER: adenine
15.
Its legislature was created when it had 5,000 male settlers. Arthur St. Clair and Charles Willing Byrd were its two governors. Part of it included the Virginia Military District and the Connecticut Western Reserve. It was created in 1787 and went out of existence in 1803 with the admission of Ohio as a state. What was the first organized American Territory, consisting of the land between the Mississippi and Ohio Rivers? 

ANSWER: Northwest Territories (or Territory Northwest of the River Ohio)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He was slain by Lycus after serving three terms as king. In his third reign, he was regent for his grandson Laodamas. His second reign was brief as he yielded power to his two sons, Polynices (paw-lih-NYE-seez) and Eteocles. His first reign occurred after the death of Laius; he offered his throne and the hand in marriage of his sister, Jocasta, to anyone who could solve the riddle of the Sphinx. What King of Thebes condemned Antigone to be buried alive? 

ANSWER: Creon
2.
The Jus exclusivae (ek-SKLOO-sih-vye) was sometimes called its ‘Papal’ variety. The liberum variety was practiced in the Polish sejm in the 17th century, and could be exercised by a single member of that body. Its name comes from the word supposedly used by Roman consuls against each other, or by tribunes against the Senate. What is this practice that in the United States comes in pocket and line-item varieties, and is the power to stop a proposed law? 
ANSWER: veto
3.
In a letter to Idomeneus written on the last day of his life, he described his kidney stones and dysentery, but said the ‘cheerfulness of his mind’ counterbalanced those afflictions. Like Democritus, he was an atomist, but thought atoms could travel on curved paths. Unlike the Stoics, he eschewed political involvement, since it led to trouble. His ideal was aponia, the absence of pain and fear, which led to a tranquil life. What philosopher’s garden had written above its gate, ‘here our highest good is pleasure’? 
ANSWER: Epicurus
4.
According to the Nernst form of the third law of thermodynamics, entropy is zero here and thus it cannot be attained.  Superfluidity and Bose-Einstein condensation occur near this temperature.  Name this theoretical lowest temperature equal to approximately minus 460 degrees Fahrenheit or minus 273.15 degrees Celsius.

ANSWER: absolute zero
5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Reduce the fraction 90/162 into simplest terms, remembering that 90’s prime factors are 2, 3, 3, 5 and 162’s prime factors are 2, 3, 3, 3, 3.

ANSWER: 5/9
All questions ©2008 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

